EARAZROREIERT — 2 N—XBISY —F 20135F1818H (£) 22@EEZHESH

m%fﬁﬂﬁﬂﬂ A3a 7% —f% ‘ (XM&] W ‘ (] — | 4 (®) 16000 &
[A&4] 1 #%:350,00 ~ 2#%&:63,00MH ~ 3#&:25,000MH  4#%:17,000H / 5&%:0M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
11810l VS RE—T #H 5 sﬁgﬁoﬁl 1:(:&).6 3332 |37.3| — | 2 ;1_417) %gﬂ-%—% (BHE)
X LTHANXIN BiRYSG 42T BB
S . FLEFRER 41, -1-1- . — BREX (BHE)
AR 4| 48 Ly || B Es N Rl
R:ZE—RKT—I K B:TUReTUT BREME KIEXTF—TI
- s — poipi:a=s . —6-6— — Bl FH &
30111 SEH ) —F X5 4 5 gg{%ﬁf’éa 1.?733.1 6-6-6-5 | 38.4 3 <5+113) E;é%ﬁé)
:T7v3IT—L BiRIL/ A #AR HE
N REE— : 55— — FHEE (BHE)
4|5|5|7A—2—H1U7T o4z (11.413/.24) 5-5-5-3 | 38.9 7 (4824) RS
R:T7NTI5T Bd-WRTFA4SX54T27 FREFHIS
— g = B 7 | SHE 1:44.0 4-4-4-6 | 39.5| — 8 461 | BEAC (BEB)
sl 4| =F—TA 5.0 ® () | EEEE
X TAANAN BiRYIETZ 24 N1 B
= S EEE 144, —-8-8- . — BriE—5 (25E)
6189 RITIAF—H> "0 56.0£ (11414/23) 8668 %9 ? :_819) BrE¥
R8T BiAUIAHLT— FhHh)Tr—14
.o > FERIEAR : —7-7- — AMEt (BHE)
; 6| 71— KKy T > 6 | FHRE (11414/263) 7-7-7-7 | 39.4 6 (425) L
L:7VF%tx B:a T I VI i vie]
——— = - FEbie®E : 00— — ROEE (BHE)
8 3| 4757257 =— it 6 ;_0 (11.414/.29) 2-2-2-4 | 40.7 5 <4+727) hoEE
RXHBIFTLIFL N BHITET S bt
9 0| TN F - K H 1 57%%?337&&5 (1;{6&9) 9-9-9-9 [41.3] — | 10 <5+129) gg%g (BHE)
Lngy— BAI7F1H— it RS
) [iE] B &R — = - = AHEEt (BHE)
x| 7|8 ¥FUvTvO 'O 56.0 (k) 4 (5_2; INES
LYK YTYZXIZ BEXT K= J—HrIr—L
® 1—F—@EBIERL
1T=7r= 7,3,10,4,5,1,6,9,2
2a=5F= 7,3,10,4,5,1,6,9,2
Ja=5= 7,3,10,4,5,1,6,9,2
43—+ — 7,10,5,3,1,4,6,9,2
[ /N
B 10 320M 714K 7-10 120H B 7-8 1504 JEE 1-7-10 380F4
B B 10 110H 1-10 170H B = 7-10 190H JEE 10-7-1 2,800
7 1004 1-7 190H B H 10-7 760M
1 1309

ABICOVWTRDTEEERROODE. TR LIV,



